1 A=30

2016. 1~78 ME3)| =&

== PIPN -

ef Al 4,819 892 709 1,601 33.2%
s & =2 3,143 545 431 976 31.0%
= & =2 255 53 78 131 51.4%
g o = 222 39 51 90 40.3%
= =2 1,198 256 149 405 33.8%

g Al 616,047 | 1,015,242 621,740 892,313 0.9 A12.1
s & =2 268,215 565,401 341,189 544,876 27.2 A 3.6
= & =2 11,844 88,034 10,591 53,355 AN10.6 A39.4
g o = 178,137 59,570 150,387 38,521 N15.6 A35.3
= ¢ = 157,852 302,237 119,573 255,561 N24.3 N15.4

g Al 225,202 520,012 265,962 708,611 18.1 36.3
s & =2 125,219 342,014 135,731 430,849 8.4 26.0
= & = 14,149 75,107 15,445 77,691 9.2 3.4
g = 79,377 37,594 83,244 51,035 4.9 35.8
= & = 6,458 65,297 31,542 149,035 388.4 128.2




s & = 268,215 565,401 341,189 544,876 27.2 A3.6
M & =5 6,533 27,449 7,235 27,267 10.7 AN0.7
B Xl 5,002 17,010 5,388 18,350 7.7 7.9
E0tE 144 190 153 368 6.0 941
ot 2|3t 157 404 276 657 75.7 62.4
BH == 89 48 263 265 196.3 452.9
o) 23 88 2 12 N92.8 A 86
o A = 33,684 39,464 36,646 52,813 8.8 33.8
BH 26 50 17 26 N35.7 N48.7
= 6 22 65 155 922.0 605.2
5 At 85 293 90 287 5.8 A1.9
s 13 39 9 43 N26.4 8.6
gt F = 56 630 19 242 NB5.2 AB1.7
=l 14 123 - - A100 A100
&0 5 31 - - A100 A100
el 11 193 10 200 N5.8 3.8
= & = 11,844 88,034 10,591 53,355 A10.6 A39.4
27| 441 3,002 423 3,813 v 27.0
= DA 264 1,711 195 1,215 N26.2 A29
Sl 159 677 285 585 79.5 N13.6
g & = 178,137 59,570 150,387 38,521 A15.6 A35.3
JALE 2 52 3 37 24.6 N28.3
HIOHA 11 163 7 56 A36.5 NB5.7
Ot=E& 20 202 7 106 NB4.6 NAT .4
= 3 34 5 35 47.2 4.3
= & = 157,852 302,237 119,573 255,561 A24.3 A15.4
= 3,361 22,216 896 15,655 ANT3.4 N29.5
AN 16,624 17,454 5,944 14,210 NB4.2 N18.6
0l 1,233 4,631 712 3,106 N42.3 N32.9
L= 1,096 2,258 748 1,651 A31.7 N26.9
IS0 1,468 1,812 155 360 N89.4 N80.2




s & = 125,219 342,014 135,731 430,849 8.4 26.0
M A& = 2,509 23,377 2,884 25,873 15.0 10.7
2 X 418 1,195 614 1,901 47 .1 59.1
E0tE 1,058 1,629 1,033 1,796 N2.4 17.5
2| ot 82 221 67 195 AN18.5 A11.5
bl = 19 15 5 4 AT4 NT0.4
=D 42 401 27 176 AN36.5 AN56.1
It A = 3,220 10,023 4,158 16,417 29.1 63.8
BH 885 2,102 1,271 2,959 43.6 40.8
S=0t 16 41 14 44 AN14.6 5.6
= At 1,244 3,837 1,192 3,688 A4.2 A3.9
TE 3 14 4 15 26.0 7.4
s 3 = 446 3,914 326 2,926 N26.8 N25.2
g ot 4 55 3 36 AN40.6 AN34.4
&0l 27 104 22 115 A18.1 10.3
agelPS, 186 1,888 136 1,483 AN2T A AN21.4
5 & = 14,149 75,107 15,445 77,691 9.2 3.4
21107] 1,683 13,224 837 5,598 A50.3 ABT.7
= DAY 287 1,201 155 761 AN46.1 AN36.6
S| 3,504 5,449 3,913 4,501 1.7 A1T7.4
2 & = 79,377 37,594 83,244 51,035 4.9 35.8
1 AtE 9 42 - 4 AN96.7 AN91.5
HIOHA 3 46 2 60 AN39.7 30.5
o=t - - 24 606 - -
=4 3 24 2 12 A28.7 A49.9
= & 2 6,458 65,297 31,542 149,035 388.4 128.2
e 1,745 38,811 4,033 54,040 131.1 39.2
N 1,195 2,088 2,326 5,180 94.7 148.1
01 301 1,627 422 1,958 40.0 20.4
= 425 551 1,097 820 1568.5 48.9
JS0 15 56 2,328 2,106 15,905.2 3,646.7




